



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
1037797	BANKAR ROHIT SURESH PRAVINA 2023016402115844 (1)Mumbai-(10)	58651 17F	8+	25		FEC101 ---	14+	14		58652 27+	6+	33		FEL101 ---	14+	14		58655 24+	8+	32		FEL102 ---	15+	15											Unsuccessful				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50										-- --				
		58653 32E	10+	42		FEL103 ---	19+	33		58654 32+	16+	48		FEL104 ---	17+	30		FEL105 ---	32+	32																			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00																		
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																													
1037800	RATANSI ABBAS HUSEINALI YASMEN 2022016402425504 (1)Mumbai-(10)	58651 32	10+	42		FEC101 ---	10+	10		58652 24+	7+	31		FEL101 ---	18+	18		58655 31+	8+	39		FEL102 ---	24+	24												Successful			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00											18.00 92.00			
		58653 32+	8+	40		FEL103 ---	13+	30		58654 32+	11+	43		FEL104 ---	15+	28		FEL105 ---	42+	42																			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00																		
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																													
1037803	SHAIKH RAYYAN AHMED SHAIZAD RUHEENA 2023016402122496 (1)Mumbai-(10)	58651 41+	8+	49		FEC101 ---	10+	10		58652 24+	6+	30		FEL101 ---	12+	12		58655 24+	6+	30		FEL102 ---	15+	15												Successful			
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50												18.00 89.00		
		58653 33	14+	47		FEL103 ---	23+	39		58654 36+	8+	44		FEL104 ---	11+	24		FEL105 ---	32+	32																			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00																		
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																													

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1037808	PARKAR SHRAVAN ANIL ANKITA 2022016402190225 (2) Dadar- (522)	58651 32+ 13+ 45 3.00 E 5.00 15.00	FEC101 18+ 18 8.00 8.00 1.00 B	58652 24+ 6+ 30 2.00 P 4.00 8.00	FEL101 22+ 22 10.00 5.00 0.50 O	58655 24+ 8+ 32 2.00 P 4.00 8.00	FEL102 24+ 24 10.00 5.00 0.50 O	Unsuccessful -- -- -- --																		
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1037821	GUPTA SATYAM FULCHAND SANJU 2023016400877914 (3) Andheri- (524)	58651 32+ 12+ 44 3.00 P 4.00 12.00	FEC101 20+ 20 10.00 10.00 1.00 O	58652 27 6+ 33 2.00 P 4.00 8.00	FEL101 20+ 20 10.00 5.00 0.50 O	58655 24+ 7+ 31 2.00 P 4.00 8.00	FEL102 23+ 23 10.00 5.00 0.50 O	Successful 18.00 111.00 6.17 --																		
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1037838	DEVAMANE SARVESHVAR BHANUDAS SHEETAL 2023016402096574 (5) Thane- (17)	58651 32+ 9+ 41 3.00 P 4.00 12.00	FEC101 19+ 19 9.00 9.00 1.00 A	58652 18F 8+ 26 2.00 F 0.00 0.00	FEL101 19+ 19 10.00 4.50 0.50 A	58655 24+ 11+ 35 2.00 E 5.00 10.00	FEL102 22+ 22 10.00 5.00 0.50 O	Unsuccessful -- -- -- --																		
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1037839	GHARAT SOHAM SANTOSH SARIKA 2023016402080857 (5)Thane-(17)	58651 32+ 3.00 P	9+	41	12.00	FEC101 1.00 B	18+	18	8.00	58652 24E 2.00 P	6+	30	8.00	FEL101 1.00 B	18+	18	4.00	58655 18F 2.00 F	11+	29	0.00	FEL102 1.00 O	20+	20	5.00	Unsuccessful -- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1037846	MISHRA ALOK SANJAY MIRADEVI 2023016402079162 (5)Thane-(17)	58651 22F 3.00 F	8+	30	0.00	FEC101 1.00 E	12+	12	5.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 1.00 C	16+	16	7.00	58655 24+ 2.00 P	8+	32	4.00	FEL102 1.00 C	17+	17	3.50	Unsuccessful -- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1037881	BOHARI MUSTAFA MOIZ TASNEEM 2023016402439591 (12)Panvel-(822)	58651 32+ 3.00 P	9+	41	12.00	FEC101 1.00 B	18+	18	8.00	58652 26+ 2.00 P	7+	33	8.00	FEL101 1.00 O	20+	20	10.00	58655 28+ 2.00 D	14+	42	6.00	FEL102 1.00 O	23+	23	5.00	Unsuccessful -- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1037898	BHATKAR YASH RAJESH REENA 2023016401040117 (13)Ratnagiri-(525)	58651 15F	10+	25		FEC101 15+	15			58652 24+	8+	32		FEL101 19+	19		58655 24+	6+	30		FEL102 19+	19			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 32+	8+	40		FEL103 22+	38			58654 32+	8+	40		FEL104 17+	33		FEL105 45+	45											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1037931	LABDHE MITHILESH PRAKASH VAIBHAVI 2022016402153741 (40)Khed-(742)	58651 32+	13+	45		FEC101 19+	19			58652 24+	6+	30		FEL101 15+	15		58655 25+	8E	33		FEL102 17+	17			Unsuccessful -- --				
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 41E	8+	49		FEL103 17+	35			58654 17F	9+	26		FEL104 17+	32		FEL105 29+	29											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1037937	YADAV RAHUL KAMALKANT SUNITA 2023016402229683 (47)Bhayandar-(890)	58651 18F	9+	27		FEC101 15+	15			58652 24+	6+	30		FEL101 10+	10		58655 31+	8+	39		FEL102 15+	15			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	-- --			
		58653 32+	8+	40		FEL103 11+	23			58654 47E	12+	59		FEL104 12+	26		FEL105 21+	21											
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1037941	HAGIR HRUSHIKESH AJIT MEENAKSHI 2023016402143674 (76)Navi Mumbai-(426)	58651 32 3.00 P	8+	40	12.00	FEC101 10+ 1.00 P	10	10	4.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 18+ 0.50 B	18	4.00	58655 29+ 2.00 E	6+	35	10.00	FEL102 10+ 0.50 P	10	2.00	4.44	--	
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1037942	JADHAV ABHIJEET JALINDAR CHHAYA JALINDAR JADHAV 2023016402143852 (76)Navi Mumbai-(426)	58651 12F 3.00 F	8+	20	0.00	FEC101 10+ 1.00 P	10	10	4.00	58652 5F 2.00 F	6+	11	0.00	FEL101 17+ 0.50 C	17	3.50	58655 24+ 2.00 P	6+	30	8.00	FEL102 10+ 0.50 P	10	2.00	--	--	
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1037952	PANDHARE AJAY BABASAHEB MALAN 2022016402229086 (76)Navi Mumbai-(426)	58651 32 3.00 P	8+	40	12.00	FEC101 15+ 1.00 C	15	15	7.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 22+ 0.50 O	22	5.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 18+ 0.50 B	18	4.00	4.94	--	
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G																					

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
1037956	BHERE JATIN SANTOSH SUVARNA 2022016402109483 (76)Navi Mumbai-(428)	58651 18F	8+	26		FEC101 14+	14			58652 28+	6+	34		FEL101 20+	20		58655 24+	9+	33		FEL102 24+	24		Unsuccessful -- --		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 44+	10+	54		FEL103 24+	39			58654 36+	9+	45		FEL104 21+	35		FEL105 41+	41								
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1037968	PODASE AMAR VASANT SANGEETA 2022016402182721 (150)Badlapur-(889)	58651 46+	8+	54		FEC101 17+	17			58652 24	7+	31		FEL101 16+	16		58655 24+	8+	32		FEL102 21+	21		Successful 18.00 98.50		
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.47 --
		58653 32+	11+	43		FEL103 19+	38			58654 32+	9+	41		FEL104 16+	30		FEL105 39+	39								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

